W=EH=1-8245

M
10
1=}
3
W
x
0
om
[0
3
10
z
0
[
04

2016.6.28.

2016.6.29.

o= = S

22|
4(ne|ne| e
AL 22| 22| fo

OB | |ainyoin

CHAI' 21 SO0

&Z 06/29
sz

dolisue #d Yl

il

A

- 2016HE &ub| -

20169z <811

Stlisus 834 aisy

8 2Al]
doz 2alstaz}

O AR A6z (A7

O 37 A& 4 Fo|zA Mx]-&

o ),

O 0163 A7) BEAIS A 2| 573718, 7 -84 81h-77335(2016.6.17.)
R H2ANML

O A737]7} : 2016, 6. 21.3H) ~ 6. 28.(8D) <67k

O HARAXA : FRIgH 5 10714

O HA : F+ AF WA S22 (7E5 107124])

O AAUY : 5% RZAHSHA < 4%)

O A7 : 2 SFA7 B3 2984 EA W& 47

O HAWE : 2 &5 AR, oY U At A3
I VER-FEIUE

I-IJ-ILHg

O ZAe] 92 &4 o4&

O 3ol Wl ozt 53 & =Rl

O 2A 299 Hutdql 9%yt AH B 7oA} M3

B2 A32(HF)




O dyug
oMl 2UES | eU¥A | BA | R¥%A | ey | WA
1] 2 s | ol | oz (%ﬁﬂ%] 14:00~16:00| 2016.6.22. (%)

# eud | 3R 10:00~12:00 2016.6.21. (8N

- I -
3 o ¥ 5 % -’.‘-'?_l*jEI aep| OB | @A) 1862071920 2016.6.27.(%)

#43 ofsjejol | E2 ofEE | uMtS (%TAEIJ 10:00~12:00| 2016.6.27. (%)

T | YEFEAPRY os% | gm) |16:00~18:00 2016.6.23.(%)
4 3
Jé)l-

4

5

6 | 2SOy ZArmA Az | e | %, 15:00~17:00 2016.6.28. (3
7| 234M ZA DA 33 | YU (g ik |15:30~17:30 2016.6.22.(4)
8 | DEUY EAMBA | 3D | UYA | (JTL%) [16:00~18:00 2016.6.22.(4)
9 | ofalol 23BA | A3 | UYAE | G5 [15:00~17:00 2016.6.21.(2H
0] o 2724 | RABY 28 35D 10:00~12:00 2016.6.24.(3)

ddZ1

O AL : TNA S
O BE 4] 2% AL 245l Yus] el 9l
O 7ot 4704 7 A7} Hob BE TA] 4] Aelle] 3957} 32
O Hoflo) $E57} 3 oz Haks

O M5 dd&it

A e s | A4 | 2UYA | SUNT | AoluW | Wl 53k
18 T T T2 I 53
2% 3 (32)| 1 | ®4 | =y | 13 e
3 e H o8 B 1 | MY | Ay 9 e
4 #gY osbdol | 1 | ®Y | ®y | 15 53
5| 25 aASoRE | 1 | WY | my | 13 s
6| 25 FMIN | 1 | HY | =y | 13 e
7] B4 xAMEA | 1 | ®Y | omy | 15 53
8| mpey EAEA | 1 | ®Y | Hy | 13 g
9 | ofglo] Z2EA | 1 | m¥ | Hy | 18 s
0 o4 27aAM | 1| ®Y | Wy | 18 59

O dOJAr
O i cig] 27iA| 2|2y HAI2}
= U oAt TAgA] 2P e T4
O Ho{($7NUN YchE sl T8 #3t
= F ZTHujy & W §H @2arg AARRs] gB e}
O %7t 0|2 7|7t glo] ¢3 2% (HY 194~2% 0|2%)

= 2o 72 gofekt A Yslel A alt BY 3 2w

O FRYSE Zsholo] HollY Hehe yuASay st
- EToIx] -3TYY B 502 MM Holg /A Y

O W it TgA] the) 2|ds 3 TPz 2[5y @At

Y D BEAS2A HENE 17
2) A= 17



